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Name: Date:
A&~ MNU 303a Bronze Outcomes 1-4
& Calculate
80-35 38-74 5219
972 . 729 .7

5/31-75

Calculate the range of the
following list of numbers.

6,7,8,9,9,10

#-., MNU 320a Bronze Outcome 1
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e Calculate 33§°/o of $15.

#., MNU 307a Bronze Outcome 3
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& Change the mixed humber
below into an improper
fraction;
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2~ MTH 307c Bronze Outcome 2

& Calculate the size of the
missing angle.

2°\ 121°

%~ MTH 317a Bronze Outcome 2
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My score:

What have I learned so far 74?

www.rigourmaths.com



http://www.rigourmaths.com/

Rig@ur Maths

= " Level Numeracy & Mathematics

Name:

Date:

& What is the probability of
selecting, at random, the !
letter S from the word A
COMPASSES? A

Give your answer as a fraction
in its simplest form.

&~ MNU 322a Gold Outcome 2

Calculate f—o of 40°C.

#.., MNU 307a Silver Outcome 2
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Which shop is offering the best deal?
Give a reason for your answer!

9 ﬂ
&~ MNU 309b Silver Outcome 2
Two shops are selling the same
computer with a special offer.
@ pC — “ Easy [
PLANETI || %5 Electrics!
Closing Everything H—gﬂ
Down Salel — Must Gol
50% Off All £960 25% Off All | £660
Marked Prices - Marked Prices

& The formula for calculating the
area of a kite is given as:

1
A:EXDIXDZ

where A is the area and D,
and D, are the two diagonals.

What is the area of a kite
where D; =12 cmand D, = 9 cm?

&~ MTH 315b Silver Outcome 1

&3 How long did a police car take
to travel 40 kilometres at an
average speed of
80 kilometres per hour?

%~ MNU 310a Gold Outcome 4
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My score:

What have I learned so far 74?
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